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Communication &KW [02.06.)4

(2 Hours)
N.B. : (1) First question is compulsory. 0 .I 33
(2) Any three of the remaining five. ?':%
(3) All sub-questions to be answered and grouped togeth ,\:KJ\"
~

Q! a) Communication is primarily a social activity. Justify.
b)  Identify the barrier: _

(i) A young girl shouts at her mother, “You just d i

(ii) A young father is unable to work on his repoity ufthérbéby‘s

crying loudly.
(1Y In a social gathering the men are hayin iscUission on why women
cannot drive properly. _

tiye listering. 2]

c) With the help of an example explain apprec
d) Give a diagrammatic representatiog’ Ajettetin serai-block format. [2]

e) “Use a good quality detergent for, - uupul’ iz'an example of [

Q2 a) Explain how no feedba . eeql_iack‘ [2]
b) Which communicati had would you use in the following situations and

(2]

why:
i) Reprimanding g’

wilictions to colleagues to complete a project.

cause he has not completed an important report on time.
i) Giving a setiof /n
c) As NSS ent I€ader, your task was to arrange for midday meal for 250 students of

a school jft

village. You had ordered lunch packets from *The Perfect Meal’
cater on the day of delivery you found that the quality of food was sub-
st th2 packaging too was of inferior quality. Draft a suitable complaint cum

er a;_s!-ci'ng for appropriate compensation. Use the modified block format . [6]
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name the different types of barriers and explain any two them bncﬂy.
b) What do the following non-verbal cues communicate:

i) Hands on hip 1) A iopsided grin

r.." ,‘_- \.‘} &
the complete block format. :r'.‘\ {fj? - 5 (6]
|’r§; -.-.l-‘-\ '::‘ _\J
Q4 a) Identify the components of communication in {El%ﬂf slghder :ecewer medium
-_?":\‘ *\.‘;{\
and message: Er s O [2]

0

(i) A commuter argues with the rlckshawdzwci lﬂt@n the meter-reading.
(ii) A teacher shouting at students whnﬁye %e late for submission.
b) Hand gestures are used for cmphamsiﬁft@@]\ amng to our words. Write a short

note to support this statement. \L\}\:\ . (2]
- \
c) Describe the process uf‘weldlngﬁif “:: [4]

d) In the following list SElﬂct thms {tat you think are important while writing
instructions. Justify your sewﬁm;m ‘i’ (2]
e Adding smﬁc‘p&gs ta yOUF instructions

B Wr:tmf‘i"hﬁuc@ns ifi the right order
. Glmg'\hﬁyﬂ description of what the calculator looks like

@Mw writing clear and easy to understand

Q5 a) Wﬁu;h al? % two most important objectives of communication in an organization
accardm@m yc:u*’ Justify your answer. [3]
b; EWH the statement that oral communication is more vibrant than written
xf:.cu1'h‘h,1.|m,.ﬂ.!.;lmn [3]
\fi}aﬁidenufy the principle of business communication not followed in the following

'“"%tat_':':ments. Also re-write them in accordance with those principles: [2]
(TURN OVER)
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1) We cannot accept your claim as it is not valid. R/
i) In majority of instances such mistakes do not occur but this time it happened by thwﬂni » 3
reason of the fact that there was a sudden technical problem. ;"“.":; _‘{\?'f'x ‘Ll:} {',';.*_:'
d) Differentiate between caution and warning. r,;;,s‘i"{lkf?‘?\:_-ﬁ-"d J...IC_: 3
Q"‘\_ J‘?T :'-';

Q6. A Read the following passage carefully and answer the questions gwﬁ’ ©

The whole point of technical advance is that it enables nmn*’i"o rﬁar:%u]aiﬁ is
environment to live in the sort of conditions he wants. So you %What will man’s
everyday surroundings be like in forty years?” Other animals x\!&Lfget,;ﬁ1a_aﬂvllﬂ11|1ﬁenl
they deserve; man will get the one he wants. ﬁ-’-"' y il

And will man be so very different in forty y%i? k@ﬁﬂt thmk so. Healthier,
ves, | imagine we shall have mastered the viruses ﬁn;{ Tﬁ; pr&lem of cancer in the
young and | am sure we shall know enough to F’ﬁlﬁ“ﬁ a»md passing on hereditary
abnormalities to our children; but I suspect thaﬁﬂ'@ ﬁhﬁs..es and hurts of old age will
still be with us, because | doubt whath@’ we sha‘ﬁ\‘;ave overcome the necessity of
growing old. > N

- '\.\.
f" .x\ o

And shall we be morg senﬂb]e“‘.?ﬁn certainly not, the recorded history of
several thousand years shmg_sfals\fihal Hﬂ/tbﬁ logical absurdities of man have always
T
been with us; what we I1avgﬁbf@1ﬁmwn in four thousand years we shall not outgrow
II' T,

in another forty. . J;-.-,\}

Food is alreagy ﬁt}cﬁ‘?‘ng increasingly hygienic, quick frozen, packaged and

pre-packaged in

decay- ﬁ::rgettr%lje I_
early stagp; U%daca}' of one sort or another. Already the production of organic food is

[e- plastic containers, increasingly free from all taint of

t that many of the flavors which we price highly are due 10 the

becmm{ng gagraﬁt%[y mechanized, One obvious step remains, and that is to produce

all \a\ur fu% tie proteins, carbohydrates, fats, vitamins, roughage, and what have you
méﬁa‘“ﬁ\thencal[y

V__\ “WAnd how shall we communicate? We shall still talk to each other. Shall we
I";;I v;:r“f‘."’e-? Not, I think, in the way we do today. Even today, handwriting is dying out.

-
b
b
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Typing will last longer, but the time will come when the manual typewriter in its turn

become obsolete, and will be relegated to status of a toy, like a child’s printing set. For " %

already computer’s are beginning to tackle the problem of recognition of ordi

written text, and already a simple computer exists which will obey verbal - y &)
Put these ideas together, and you will see that even today we are within sight of the 1:*1}
possibility of a machine that will take dictation, and will then automatically pr he ;"‘

dictated text. % () ﬂr__:g_*
Do you find this sort of prospect worrying, depressing, eve@ g?1] have
i

enwsaged nothing that will not be te:chnmally possible in forty,

v i
* [
BN

e re,g,jty want
1) What is the meaning of ‘technical advance'? [1]

2) Why does the author say that we will be ierifi, the I?;QJ% forty years?(1]
3) What is the advantage of early decay of foo - (1)

uthor envisage for the future? [I]

4) What kind of writing -machine doe
5) Give the synonym of: i) obsole S prospect [1]
b) Describe any ONE of the followig objects giving definition, diagram, components &

working of Digital Camera crt Beomputer . (5]




